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QUESTION 1

Refer to the exhibit. 

An administrator configures a split-tunnel policy to be used by RAPs at branch offices. Under the Configuration section
on the Mobility master (MM) shown in the exhibit, where should the administrator configure the split-tunnel mode so that
it can be deployed to the RAPs? 

A. WLAN 

B. Roles and Policies 

C. Access Points 

D. Services 

Correct Answer: A 

 

 

QUESTION 2

Refer to the exhibit. 
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What can be determined from the command output shown in the exhibit? 

A. The synchronized data is protected by VRRP. 

B. The command was executed on the standby Mobility Master (MM). 

C. The synchronization period is at its default value. 

D. The other Mobility Master (MM) is the active license server. 

Correct Answer: C 

 

 

QUESTION 3

What is true about clustering and AP connections to cluster members? 

A. The AP will always stay connected to the LMS IP address configured in the AP profile. 

B. During rebalancing, the active load is redistributed first. 

C. The default thresholds are 75% for the Rebalanced Threshold and 25% for the Unbalanced Threshold. 

D. AP load balancing is disabled by default. 

Correct Answer: D 
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QUESTION 4

An administrator implements clustering on Aruba Mobility Controllers (MCs) that run ArubaOS 8.x. An AP is connected
to a cluster member. The administrator accidentally powers off the AP. 

How does the AP determine that it should failover to an alternate controller in the cluster? 

A. The Mobility Master notifies the AP. 

B. The AP detects a PAPI failure. 

C. The cluster leader notifies the AP. 

D. The Standby AAC notifies the AP. 

Correct Answer: D 

 

 

QUESTION 5

Which VPN component must be configured on the Mobility Master (MM) to allow a RAP to use the built-in certificate to
successfully connect to a Mobility Controller (MC)? 

A. IP Address pool 

B. VPN username and password 

C. IPSec pre-shared key 

D. CPSec auto-whitelist 

Correct Answer: D 
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